Solution Report For IBPS PO PRE 24 (Difficult)

Q. No Question Status

Q1

Q.2

3w (1-5): 9 fou T v sl & 7 Fu o 7T §, e 3rgaRur 61 st | 3R
IIgRT faar war 8| 3a 9 | SreT g1 wR ot Ul fRT Y YF Y I HIEAT 8] Al
FYFI B AFYAD iU R 1 a4 Bt raga-l Hd g Fofg SRR fr S w1 fspd
Ru T Hy=Y &1 adbqul SR FHRaT 3|

I Siford—

DY

aft Ays Tt g1

PI5 I ATAT T8I 3 |

PO TAANTE |

e

P A FPAPS AT A1 B |
I1.YS 3 o g & |

a.qﬁ%ﬂﬁﬁﬁﬁflw% #

b. afe Faa fwed 1| v B

c. afe a1 a1 s | a1 freeef 1 Ta ®
d.afeaa fred I ad Ay 1 ga g
e. g FAsHY | SR 1 T TA§ v

Attempt @ Incorrect YourAns. a @ Correct Ans. e

Solution.  (5)

I Square

Iy

o~ ""-,.\\ - ™ - T
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| |:'/‘ Triangles | I I-‘ Rectangle /)
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ry ! S
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. = — -
S - —_—

= (1-5): TR fRE T ud® wsl A 9 Y= o 7w §, PraeT srgaRr & fAsesf | 3R
IIgRT faar war 8| 3 9 ¥ Sre g1 wR ot Ul fRT Y HYF B I HIFAT 8] AN
FHYFI B AP UfeT 3R F1d T Ht aga-T Hed g¢ FAvky PR i i ar Frepd
f3T T HUAT BT dH YUl STERU BT 2|

I SifoR—

DY:
Tt By @t €
PIE 91 AT AET 2 |
PO I AR |
forea:



Q3

1.1S Y g g |
I1.PD AT AT B |

a.ﬂﬁ%ﬁﬁmﬂflw% =4

b. gfe Fad et 1| 94 3

c. afe a1 Y fAsw | a1 fsp 11 I §
d.afgad sy 1T a s 1 Ia
e. TS Frspef | 3R 11 Y o ©

Not Attempt Correct Ans.  a

Solution. = (1)

e —

Square

' I v - - I
] il . ! - . - -
I. ."ff ™ < X g
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3= (1-5): 1A R T v wel ¥ 7wy Qe e 7, et srgaror &t fAseut | 3w
&RT faar war 8| 3 9 ¥ e g1 R At U fAT T YA HY I HEAT 3] S
FYFI B AFYAS T R 1 a4 Bt sraga Hd g Fofa SRR 5 H1 a1 fspd
3T T HY BT aH YUl SFERUT HAT 3|

I Siford—

DY:

g Sad dU e |

PO WS FUT |

Pl QW ITHT TSI 2 |

e

1.9 T @ A ©

1.3 Siael & we g1 B FHEATR |

a.mmﬁ'@ﬁﬁflﬂ?&% &

b. gfe Fad e || ¥4

c. afe a1 Y fAse | a1 fsep 11 I §
d. afeaa frd 1 ad ey 1 9T g
e. gfe freard | SR 11 ST IT § v

Attempt Incorrect YourAns. a Correct Ans. e

Solution.  (5)



Q4

Q5

/ hY / ates | . A}
{ \ == Spoamn
L1 Bottles ] W, 1 J

=T (1-5): o e ¢ yd® wyi A &9 w3+ A T 8, ot s &Y fAsst | 8k 1l
&R fear war 8] 3 9 § e g1 W W sust T T $yF &Y I "EAT 8] el
FYFl B AP UfeT 3R F1d a1 Bt dga-l Hed g¢ fAvka FIvr i i ar Fepd
f3u T SYAY BT dH YUl STERU BT B

IR Sifo—

DY:

i Siad HU e |

PO W HUR I

PIs W THI TEI ¢ |

e

P YA O TR HUARI & |
I1.W FU & @ g B IRHEATS |

a. O Pad ey | 9§ %

b. gfe Fad Ty 1 9T g «

c. gfe T Y feeef | a1 s 11 T &
d. afe 7 e | 7 Y s 11 T @
e. gfe fAsp | 3R 11 ST 9 ©

Attempt @ Incorrect YourAns.  a @ CorrectAns. b

Solution.  (2)
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g Cups ™

T X N
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3= (1-5): 1A Ry 7T vd@® wal # fi7 wy= fRw e 7, et srgaror &t fAseut 1 3w
aRT faar war 8| 3 9 ¥ e g1 R At U AT T YT Y I HEAT 3] S
HYAl DI AFYAP UfeT MR FId a2l Bt @agaT Rd g¢ fFofa Fivr & o w1 fssd
Ru e Hy=Y &1 adbqul SR FHRar 3|

I Siford—

DY:



Q.6

HIs PR @ T |

Pl SITe SR 81 ¢ |
FOTATRE |

A

PO PR ARG & |

.U Y PH GO Td a8l g |

a. Ofe Bad A=ps | 9§ *

b. T Paa FTpy | T § v

c. gfe a1t feeef | a1 s 11 T &
d.afgad sy 1T s 1 I ®
e. gfe frseps | 3R 11 S 9T §

Attempt @ Incorrect YourAns. a : Correct Ans.

Solution. (2)

I » N -
\ Cover | Mt =) jar

fd=r (6-10): Faff@d SHeR &) eaFyd® U iR usi & IR < |

A, B, C,D,EF, G3RH, N fird tRaR & e I & | T 7+ &9 srerT zres @ gwaifia
T N PR, Hasr iR et 1 3 Ner-fler & e f= A At - x, v, sikzAwma g1
33 e # ¥ IR Afgent & | Ude URaR &1 9o fig 919 § Ne-fiegrR s W g |
TP A1d § $H § $H T AfedT 3R TH 39 96 § 3R e URAR # &H | HHG!
TS T | A faweh &1 fAarft 8 sk 19 z § 3512 | D,E &1 Uell § 3T @ HH: 19 X 3R YA
YEATHIIZ @ | H,B BT ACT 8, Sl G B Ul g 3R A Pladp<l & Aad g 1 C,F PN §, ST A
FTARIC, AT Y FRER TR WIRIG6F P oy NeT eI s |

Q- Fafafad A ¥ F19 91 9 R | I 2

a.G,B,H &
b.D,E «
c.B,H
d.C,AF

e. ITH Y IS Q!

Attempt @ Incorrect YourAns. a : Correct Ans.



Q7

Q.8

Directions (6-10):

2() =

A+) F) 60+ B(-)

() H(+)

Person City Boat

A(4) Delhi Z

B () Kolkata Z

C() Delhi Y

D(-) Kanpur X

E(+) Kanpur Y

F() Delhi X

G(+) Kolkata Y

H(+) Kolkata X

fd=r (6-10): FuferfRd sFe™ Y eaFyd® ug iR s & IR S |

A, B, C,D,E, F,G 3R H, dF fr7 tRaR & 3me e & 1 T [t i 3rem =gl @ Twifira
T N FHR, Hasr R e 1 3 Ner-fler & e A= A At - x, v, sikz A e g1
TS Yo § ¥ IR ARAN € | Ude URaR &1 I T /g # fp-fagrR #R W 8 |
TS g § $H A B TP AAl 3R TH [OV ¥eH ¢ SR Td® URaR # $H § Hua
IeH ¢ | A foweh &1 fFarh @ ik 119 z A 9312 | D,E 1 Uel § 3R d HH: A9 X 3R YA
YEATHIWE | H,B PTIACTE, Sl G Bl Ueil § 3R d Pl & ai 2 | C,F BT AN §, ST A
PIUAIZIC, A Y A RER BIET 2 | G,F & 1Y NPT fAgR g +Y W& |

Q- FafrfEa A A P T I A9 X I fAgrR #e @Te 2

a.A B &
b.H,F E
c.F,D, G

d. g1 78! o bl §
e. TTHUPIS Tol v
Attempt @ Incorrect YourAns. a . Correct Ans. e

Solution. | -NA-

fear (6-10): Frafe@d SeR &) eaFYd® e iR Ui F IR S |



Q9

Q.10

A, B, C,D,E,F,G 3R H, dH fia uRarl & 3ms gewa & 1 3 gaft i srerT el ¥ gwafea
T O PR, Hasr iR el 1 3 Ner-fAer & e A R amEt- X, v, iRz A S g1
33 e § ¥ IR Afgant & | Ud® URaR &1 Gew fig 919 § M- figrR s W 8 |
TS A1d A $H § A T Al R TP T3U 96 8 3R 7 uRar § 49 4 $H
IeH ¢ | A feweh &1 e @ ek 719 z A 93712 | D,E &} U«l @ 3N Q@ HH: 919 X 3R YA
YETHIWE | H,B PTIACT, S G B Uail @ 3R d Pl & AaM & 1 C,F BT AN §, ST A
PIUAIZIC, A Y A fRAER BIET 2 | G,F & 1Y NPT fagR TSI +e W7 |

Q- ¢ Fufufed # 3 foa g o1 AR g 2

a. g1 dl DI HHR %
b. a1 ol feerdl AT HHR

c. fawdl w

d. PR

e. 8T -TEl o bl &

Attempt Incorrect YourAns. a @ Correct Ans. ¢

Solution. -NA-
=1 (6-10): AT e R #f aFYd® ue IR ugi & Ia ¢ |

A,B,C,D,E,F, G 3RH, 9 firg tRaRl & 3ms Icw & 1 3 gt i 3rerT 2 3 gwafia
g O PR, Fiaer iR w1 3 Ner-fer & e M R aEi- X, v, iRz A &1
33 e § ¥ IR At & | Ude URaR &1 9w i 919 & M- figR s W 8 |
TAF 919 B $H A $ TP AT 3R Th [FY AW 7 3R U uRaR & 0 & FHaG!
IeH ¢ | A faweh &1 fAarh @ sk 719 z A 93712 | D,E ) Ual @ 3N Q@ HH: A9 X 3R YA
YEATHIWE | H,B PTIACTE, 51 G B Ueil @ 3R d Pl & AaA 8 I C,F BT AN §, ST A
PITANRIC, MY A RATR HIWI2 1 G,F F IY NpI fAgR T HIWIZ |

o-Fufifea A s T FUTIAE 2

a. D Haedl & (At g #

b. G, A Y A NHI-fABR IR WG|
c. F QR &I fFardft g1

d. H, 1a Z ¥ T fagR #R @ 8 |
e. TTH Y IS ol

Attempt Incorrect YourAns. a CorrectAns. b

Solution. | -NA-

fd=r (6-10): FrafifEd S o wHYde u¢ iR Uyl & SR ¢ |



Q1

Q12

A, B, C,D,E,F,G 3R H, dH e uRarl & 3ms gewa & 1 3 gaft i srerT el ¥ gwafa
T O PR, Hasr iR w1 3 Ner-fAer & e AT R A&t - X, v, iRz A S & 1
TS e § ¥ IR At & | Ud® URaR &1 9ew fig a9 § M- iR s W g |
TP 719 § $H § W Te Afgar 3R TP 0 46 ¢ 3R Ud® URaR # 9 § Swal
TeH ¢ | A faweh &1 e 8 ek 719 z A 93712 | D,E &} Udl @ 3N Q@ HH: 919 X 3R YA
YEATHIWE | H,B PTIACT, S G B Uail @ 3R A Pl & FAaM 8 1 C,F BT AN §, ST A
PIUAIZIC, A Y A RRER BIET 2 | G,F & 1Y NPT fagR T +Y W7 |

a-FafRifRadAs T aTgHIa R 2

a. G (JoY)-hadhdl - X #
b. H (ATge)-HTR- X

c. F (afgan)-faeh- X w
d. gt g g

e. STHY BIS TE!

Attempt Incorrect YourAns. a CorrectAns. c

Solution. | -NA-

3= (11-15): fFaferfag usl &, Fy= A e gl & S T it e g IS Py &
M & ey RRe e @1
I Siford -

DY :
D2G=E,W<L<E
e
I.G>L
I.D>W

a.ﬂﬁmﬁlﬂ?ﬁlw% &

b. gfe Fad Ty 1 9T g«

c. afe a1 Y fas | a1 fsep 11 I §
d. afeaa s 7 d s 1 g g
e. TS Frspef | 3R 11 Y o ©

Attempt Incorrect YourAns. a CorrectAns. b

Solution. | -NA-

fAdwr (11-15): Fufaf@a i & sy A At aal & g et e g 19 suTl &
M & Frepd RRe e @1



IR Siford -

DY

N=K=L, E>P<R, L=R
e

l. K2P

Il. E>N

a. i Fad fFspy | TT 8 v

b. afe Haa ey 1| v B

c. afe a1t fsw | a1 feh 1| I
d.afeaa fred I ad Ay 1 9 g
e. gfe fsepd | 3R 11 S 9 §

Attempt | Correct Correct Ans.  a

Solution. | -NA-

Q13 3= (11-15): Frafafaa wst &, $y=1 & e a<i & v wwu @it e E 1A $ &
3T gt Fred RRE T & |
IR o -

DY:

Cs<D>S, T=Q2N>S
e

l.C<Q

Il. N2D

a. gf¢ had fspy | g § #

b. gfe Had ey || ¥4 g

c. afe a1t fsw | a1 fsp 11 I
dafcadfred i ad ey gue v
e. gfe fsepd | 3R 11 S 9 §

Attempt @ Incorrect YourAns. @ a | Correct Ans.  d

Solution. | -NA-

Q14 f4Ew (11-15): Frofaf@a vt §, sy & ftE ol & v T gt e I s &
3m g e fRg e 7 |
W I -



DY

T2P =UsM, L2W2D=T
e

l. L>P

1. w>U

a. gf¢ Fad fspy | T § ®

b. afe Faa freed 1| v B

c. gfe Tt faendf | a1 s 11 T B

d. giead s |7 q s 1 g g w
e. gfe fAspY | 3R 11 SHT 9T §

Attempt Incorrect YourAns. a Correct Ans. d

Solution. | -NA-

Q15 g (11-15): FERRATudi § sy d RARE dai F o Tew et U T I U &
M gl fFrepd RT T & 1
IR Siford -

DY

H<N=K=2D, D<S=M
e

l. S>H

Il. M<K

a. gf¢ Had fspy | g § ®

b. afe Haa ey 1| v B

c. afe a1 i s | a1 frendf 1| Ta ©
dafcaafred i ad ey gug v
e. gfe fAspy | R 11 SHT I §

Attempt @ Incorrect YourAns. @ a | Correct Ans.  d

Solution. | -NA-

Q16 43w (16-20): FUfIAT TH®R #) erFyd® e iR usi & IR S |
36 AT J, K, L, M, N, P, Q 3R R T% Wit ufey & IR &1 3R g P 93 & W Maad
eI 8 T pAgaR B |
LS BRF ATANRIZIRNI P SF A AISTRIL 3R J S TS Al & 1 K iR
R GUM TS GO & 9T H §3de | Q T J BT 3R T & L T USRI 8 | N B L & TIY do-1
W TR g I TAKTIRARIF SP IA IR EIPIRKI TT Paa Th AR S IMP &S
WRR AT BT |



Q17

Q.18

Q- T A AP TSI uf F SRIRIBTE ?

a.J,Q &
b.Q R
c.R,M

d. SeT -TEl ST Tobal &
e. TTH A BIS &I

Attempt @ Incorrect YourAns.  a | CorrectAns. b

Solution. Directions (16-20):

Q ™M J N P L K R

N N I N N
I D

(Facing North)

w1 (16-20): FufafEd MR ®1 AFYd® u¢ R A & IR S |

313 @1 J, K, L, M, N, P, Q 3R R T Hieft ufdd & SR &1 3R 1 F3 3 & W Aad
el 8 f pargar gl |

LS BR P AT ANRIZIRNI PSP A A ISR ILR I P TG ARG | K 3R
R THRIT TS gO & T | 96de | Q T J BT 3R A 81 L HT USRI § | N B L & 1Y 98+
W TR g I TAKTATRI PSP A IS T IPIRKI IT Paa TP AR S IMP &
R AT BT |

Q-PHF I T I FTRF D ATE ?

a. G UG %
b. & I TRRT

c.aﬁﬁrgw !
d. ardr 1) 41 3)

e. FTHI DS el

Attempt Incorrect YourAns. a CorrectAns. c

Solution. = -NA-
w1 (16-20): FufafEd MR # AFYd®s U R Ui & IR S |

3T ART J, K, L, M, N, P, Q 3R R T {Ih iRy & IR &1 3R 4g P 93 & W aad
T8 € f5 pargaR 81 |

LA BRF AT TRRIZINNIF S T@ASTRIL 3R J F T AafR g 1K 3R
REANMUS g & TTA A 96d8 | QT T J BT MR T E L HTUSRA § | N BT L &A1Y 9511



Q19

Q.20

WRETHNEITNKATRI PSP SA IS ETIPIRKSP ST baa v AfRI g | MP P
RR AT YSTR |

Q-M MNP T fFar AT € 2

a. dls ol ®

b. o

c.al

d. Udh w

e. STH A PIS g

Attempt Incorrect YourAns. a Correct Ans. d

Solution. | -NA-
fSar (16-20): Fufifad SF®R ® AFYd® ug iR usi P IR S |

3T AT J, K, L, M, N, P, Q 3R R T% Wit ufet & IR &1 3R 4g FP 93 & W maad
eI 8 fb pAgaR & |

LS BRF ATANRIZIRNI P SF A AISTRIL 3R J S T S Al & 1 K iR
R GUM TS GO & 9T § 33de | Q T @ J BT 3R T &1 L T USRI 8 | N B L & T1Y do-1
W TR g I TAKTIRARIF SP IA IR EIPIRKI TT P Th AR EIMP S
WRR AT BSTR |

Q-PHIAAGIRTIHIAE ?

a.R &
b.J
c.N
d. K &

e. STH Y IS g

Attempt @ Incorrect YourAns. @ a | Correct Ans.  d

Solution. | -NA-
fSar (16-20): FUfifad STF®R &1 AFYd® ug iR usi P IR S |

3T AR J, K, L, M, N, P, Q 3R R T% Wi ufey & IR &1 3R 4g FP 33 & W Maad
eI 8 fob TR & |

LS BR P AITANRIETIRN,J PSP AR ISR ILIR I P I AR E | K 3R
REAMUS G P TTARISdR 1 QT T J BT AR T L FTUSRA B | N BT L & A1 98+7
W TR g I TAKTTARI PSP A IS T IPIRKI IT Paa Th AR S IMP &



RRATE BT
- fFufifea A AP iR PR BIRWE 2

a.R
b. K
c.Q
d. M

e. STH Y BIS g

Not Attempt Correct Ans.  a

Solution. | -NA-

Q21  ¥7eg SOUTHWEST ¥ 3f&RY & X fraq g €, o e & IaA &Y srer € e f5a siish
quipn H Sma € 2

a. I
b. &
c. aid
d. dR

e. FTHI DS gl

Not Attempt @ Correct Ans. d

Solution. (4]

T

$ 0 U T H W E § T

T

Q22 FRPIIRTERIHNPITH IR ARPF TN AGHI VAW, NEIRABRIA21 T g |
MIEBRATTEA g IRRF A A NUTE | Sasd fp ufa A frar s € |

a. 40
b. 35
Cc.43
d. 45

e. STHY BI TE!

Not Attempt | Correct Ans. ¢



Solution. (3)
R’s position from right end is (21 + 10) = 31st
R’s position from left end is (17 — 4) = 13th
=~ Total number of students in the row is (31 + 13 -1) =43

023 e P U ST AR WA PR §Y TH Ave PEA 2 SHH W A gwd 38 &9
A & 98 aftasy AafR A fFa yeR A dafta @ 2

a. Yol

b. §g

c. Yatoll w

d. 3fict

e. STHAPIS Q!

Not Attempt Correct Ans.  c

Solution.
(3) Man’s mother’s only daughter is man’s sister and sister’s daughter is niece.

Q24  gw fAffa s YT # KINDLE 3t OJLFME forar Sirar 8,59 $1s YTl § CENTRE &1 &
foraT s 2

a. DEOUSF
b. OFDFSU
c. FDOUFS
d. DFOFSU

e. FTHI DS gl

Not Attempt Correct Ans. b



(2)
K I N D L E
+1 +1 +1 +1 +1 41

O JL F M E

Similarly

C E N T R E
+1 +1 +1 +1 +1 41

Q25 YAD GRAA,B,C,DAINEPTIH NI ZIC DAY E, SN IGA gehI T8I 28 1 AB
geh g MR EJ U™ B IFgff@a i s cAgepi g ?

a. ®dd D

b. Had A

c. PATE SR D
d. gl T S Thall &
e. TTH Y IS ol

Not Attempt | Correct Ans. ¢

Solution. (3)B>A>C>D=E

Directions (26-30):

Here > la
Is > ha
School 4 tip
Bus = Sa
Stop 2> kin
He -> Pi
Comes - Sit
From - nit
Late - tin
Far > fa

Q26 43wy (26-30): FERIAT PR #) erFYd® U R Ui F IR S |

U HIS YT H ‘here is school bus stop’ P ‘sa kin ha tip 12’ foran \_rITEIT%, ‘he comes
from school’ &I ‘nit tip pi sit’ ﬁIET\_SI'I?IT%, ‘bus comes here late’ B ‘sit la tin sa’ forar
GI'I?IT% \?vﬁ?' ‘school is far from here’ @I ‘ha nit la tip fa’ﬁ'IET\_rl'I?IT% I



Q.27

Q.28

Q-mﬁﬁﬁ‘school’%mwaﬁg%?

a. nit
b.tip
c.la
d. na

e. FTHIA DS gl

Not Attempt | Correct Ans. | b

Solution. | -NA-
fdar (26-30): FufifRad SFeR & wFYd® ug iR usi P IR S |

U P18 YT H ‘here is school bus stop’ P ‘sa kin ha tip 12’ ferar \_:I'IT'IT%, ‘he comes
from school’ @1 ‘nit tip pi sit’feTAT ST §, ‘bus comes here late’ ® ‘sit la tin sa’ for@n
GI'IT-IT% 3R ‘school is far from here’ &1 ‘ha nit la tip fa’ﬁl@TG’lﬂT% |

Q- U< ‘sit’ BT T 37T ?

a.comes &
b. from
c. he

d. PeT -TEl ST Jebal &
e. TTH A IS e

Not Attempt .| Correct Ans. : a

Solution. | -NA-
= (26-30): FRufafEd SFaR # wFyd® u¢ iR Ui & IR S |

Udh P18 YT H ‘here is school bus stop’ P ‘sa kin ha tip 12’ ferar GI'I?IT%, ‘he comes
from school’ &I ‘nit tip pi sit’ﬁ’l@T\_rl'lﬂT%, ‘bus comes here late’ I ‘sit la tin sa’ fer@n
\_:I'IT'IT% Sﬁ?' ‘school is far from here’ @I ‘ha nit la tip fa’ﬁ’l@T\_rl'R'lT% |

Q- ‘he is late’ B BIs A forar &1 G&d1 g,

a. sapila

b. fa tin ha

c. pihatin
d. kin tip sit

e. FTHI DS el



Q.29

Q.30

Q.31

Not Attempt | Correct Ans. : ¢

Solution. | -NA-
fdar (26-30): FUfifRad STF®R # AFYd® ug IR usi P IR S |

U IS HIWT H ‘here is school bus stop’ &1 ‘sa kin ha tip l1a’ forar \_rITEIT%, ‘he comes
from school’ @1 ‘nit tip pi sit’foraT SITAT 8, ‘bus comes here late’ ® “sit la tin sa’ foran
\_rI'IT'lT% 3R ‘school is far from here’ &1 ‘ha nit la tip fa’ﬁ'l@T\_rl'lT‘IT% |

Q-ﬁ?ﬁ'@ﬂﬁﬁ‘stop’%ﬁﬂwaﬁg%?

a.la

b. tip
c. sit

d. kin

e. TTH Y IS Aol
Not Attempt Correct Ans. b

Solution. | -NA-
fdar (26-30): FUfifRad STF®R & AFYd® ug iR usi P IR S |

U PHIS HTHT H ‘here is school bus stop’ ®1 ‘sa kin ha tip 1a’ forar GI'IT-IT%, ‘he comes
from school’ &I ‘nit tip pi sit’ﬁlET\_rlﬁT%, ‘bus comes here late’ I ‘sit la tin sa’ fer@n
GI'IT-IT% 3R ‘school is far from here’ &1 ‘ha nit la tip fa’ﬁlET\_rl'l?lT% |

Q- fAuferfad # | ‘comes here far stop’® TP § 2

a. sit la fa kin "
b. lafapi tin
¢. ha kin sit nit

d. g1 75! o bl §
e. TTH Y IS A6l
Not Attempt .| Correct Ans.  a

Solution. | -NA-
fdar (31-35): Fufifad SFe™ & wFYde ug iR usi & IR S |

Teg 3R =T o qafRUd H37 arelt T 7=A #) Wea) iR T@msil @t vep ufdd e wm
W 98 32 Fufia Fradl & gaR vde @R # gHedafRud ol 8. Fafafad, 39ge ok
Y aRIT TRV BT Th IGIE70T 3



Q.32

{Yc: all 25 next call English 35 long over 42 jug under 39

IRUT I: call next English 35 long over 42 jug under 39 all 25

IR |l:call jug next long over 42 under 39 all 25 English 35

TIRUTI: call jug long next under 39 all 25 English 35 over 42

TIRUT IV: call jug long next all 25 English 35 over 42 under 39

ST IV 37Ye &7 ifaq TRuT 2 |

SWRIF WUl & fFrgmt & R, Fafafae usf ¥ Ry e 39qe & R 3R ol #t 319
Fifor]

S1YcC: power turn copper every 22 order 34 flower kite inter 29 aptitude 41 hope

Q- TRUT 1| Horder®T VIH Cac k.|| % ?

a. 910 Y UiEar
b. ST¢ ¥ a1

c. G q 3Maal
d. g ¥

e. STH A BIS g

Not Attempt Correct Ans.  a

Solution.

Directions (31-35):

In the rearrangement, the words starting with consonant are arranged in alphabetical
order from left to right, and the words starting with vowels and followed by a number
are arranged in alphabetical order from right to left along with the number in each
step.

Input: Power turn copper every 22 order 34 flower kite inter 29 aptitude 41 hope

Step — I: copper power turn every 22 order 34 flower kite inter 29 hope aptitude 41
Step — II: Copper flower power turn order 34 kite inter 29 hope aptitude 41 every 22
Step - lll: Copper flower hope power turn order 34 kite aptitude 41 every 22 inter 29
Step- IV: Copper flower hope kite power turn aptitude 41 every 22 inter 29 order 34

= (31-35): FUfifad SFeR &1 AFYd® ug iR usi F IR S |

Teg 3R BT B! IR HI aTelt Th A=A o1 Ui 3R T=msif #1 vsp ufed o s
TR 98 39 Fuifea Framl & oguR yde o § qeiafeud odl 2. Fafafad, 39qe ok
Y aRIT TRV BT T IGIE0T 3

gYc: all 25 next call English 35 long over 42 jug under 39
IRUT I: call next English 35 long over 42 jug under 39 all 25
WM ll:call jug next long over 42 under 39 all 25 English 35
IROT1II: call jug long next under 39 all 25 English 35 over 42



Q.33

IRUT IV: call jug long next all 25 English 35 over 42 under 39

SRR IV §TYC &7 SifaH TRuT g |

SWiad =0T & e & R, Frafif@a wat d Ry ¢ 397ge & forg Sfua w=ol &) g
Fifor)

{1YC: power turn copper every 22 order 34 flower kite inter 29 aptitude 41 hope

Q- & @ &1 Fafafea smeeye gim 2

Copper flower hope power turn order 34 kite aptitude 41 every 22 inter 29’

a.ll
b. Il &
c.V

d. U1 PHIg WUTAE §
e. ST A IS eI

Not Attempt Correct Ans. b

Solution. | -NA-

A= (31-35): Fufafad SHeR @ A Yd® U iR usi F IR < |

Yeg 3R HEAT B afRYd S aTelt T A=A o1 i 3R FBI3fl $1 ¢ ufe g o
W 98 39 FAuifa fFram & guR 7l @R § gaeiafRud $dl 8. Fafif@, 39ge ek
YA GRIT TRUN T Th ISTeR0T &

{Yc: all 25 next call English 35 long over 42 jug under 39

TIRUT I: call next English 35 long over 42 jug under 39 all 25

IR ll:call jug next long over 42 under 39 all 25 English 35

IRUTII: call jug long next under 39 all 25 English 35 over 42

TIRUT IV: call jug long next all 25 English 35 over 42 under 39

STERT IV 37Ye &7 ifaq TRUT 2 |

SWRIT WUl & fFramt & guR, Fafafaa us ¥ Ry e 39qe & fe 3fa ol &t 319
Fifor)

S1YcC: power turn copper every 22 order 34 flower kite inter 29 aptitude 41 hope

Q- STYF 3YC B T H & fore fram TRol &1 smazawar g 2

a. gd
b. &:
c.diR
d. 9Id

e. STH Y IS g

Not Attempt | Correct Ans. ¢



Q.34

Q.35

Solution. | -NA-

e (31-35): FAufafEd MR # wFyd® u¢ R Ui & IR S |

Yeg 3R TEAT BT HaRYT B qTadl Th TR B Al 3R Fewsii ot ua ufdd g o=
R 98 39 Fuifa Ao & R vl wur § grafafRia st 8. Faffad, saye ok
YA GRIT TRUN T Th IETeRVT &

{Yc: all 25 next call English 35 long over 42 jug under 39

TIRUT I: call next English 35 long over 42 jug under 39 all 25

IR ll:call jug next long over 42 under 39 all 25 English 35

TIRUTI: call jug long next under 39 all 25 English 35 over 42

TIRUT IV: call jug long next all 25 English 35 over 42 under 39

ST IV $7Ye &7 ifaq TRUT 2 |

SWRIFd WUl & fFrgdt & guR, Frafafae usl ¥ Ry e 39qe & R 3fa ol &t 319
Fifor]

S1YcC: power turn copper every 22 order 34 flower kite inter 29 aptitude 41 hope

Q- 3ifaH TRUT F SR TR A DI T Weg/ BT TS VI YR 3R ?

a. 32

b. order

c. 41

d. aptitude &

e. STHY SIS g

Not Attempt | Correct Ans. | d

Solution. | -NA-
fdar (31-35): Fufifad SFeR & wFYde ug iR usi F IR S |

g IR T B HafRd H qTelt Th TRA $i Aeal R FBI3ii #1 v v fig o=
W 98 34 FufiRa Framl & R vde =R A gefafua ot 8. Fafafad, s9ge ok
YA GRIT TRUN BT Th SGTeNVT &

gYc: all 25 next call English 35 long over 42 jug under 39

IRUT I: call next English 35 long over 42 jug under 39 all 25

IRUT ll:call jug next long over 42 under 39 all 25 English 35

IRUTII: call jug long next under 39 all 25 English 35 over 42

IRUT IV: call jug long next all 25 English 35 over 42 under 39

SRR IV §TYC &7 i TRuT g |

SHRiad @01 & e & R, Frafif@a wat d Ry ¢ 397ge & forg Sfa w=ol &) 3@
Fifor)

{1YC: power turn copper every 22 order 34 flower kite inter 29 aptitude 41 hope

Q- TROT 11 § 34’ 3R ‘inter’ P SAfpdl dd & ?



Q.36

Q.37

a.Udh

b. o

c.Ud w

d. IS el

e. TTH A BIS gl

Not Attempt | Correct Ans. ¢

Solution. | -NA-

SCATH FH D1 16 R A W R Twpar 8, Tl WA s Pl 24 A A R HRaT B |
3 S e 5 e W B €, ITP 91 I¢U B BIS B Id] IIdT 8 | A9 BTH B T
fa fami & R e 2

a. 11(1/2) e v
b. 12 faa

c. 14 f&q

d. 13 (1/2) fea

e. T Y IS ol

Not Attempt Correct Ans.  a

Solution. (3u=16 LCM. =48
(2)R=24
Work done in5days=(3+2)x5=5x5= 25
Total work = 48
Work left = 48 - 25 = 23
Req. no of days = 23/2 =115

TP IR &l UPR 1 Y U1g TR Hvar 2 | ugdt Ayurg 9 98 12 far o1 fyor aar @
o 3:2 & SrguTa o HiFT SR idt AT g3 8 | gk UPR 31 fgurg @ 98 36 fet &1
forgror Qe 8 o AT SR @idt 2:3 & 3rguTd | fAar gan @ | Sifdw ¥ u ¥ duR fd e
fory eng & fargror & W4T SR Tt BT U AT 2

a.11:9
b.9:11
c.3:7
d.7:3

e. FTHIA DS gl

Not Attempt | Correct Ans. | b



Gold in 1% alloy = ‘12}{:: =7.2

Gold in 204 alloy = 36x= = 14.4

w I"I

Silver in 1 alloy =12 x—==4.8 kg

Silver in 27 alloy = 36 x i =216

Tl4ldd 218

4.8+2l6 264

=9:11

Q38 TP AP PR TP I & Y Yod D1 30% TGP 3ifPhd Har g 3R fibw 3= urga!
B G FIA & T 3T W 20% $t Fe 13 | TP 3(QATaT, I8 TAd o ST 5anT ft wwar
2, Ol a5 & aRAfd® aoiF | 15%HH QT § | ST ATH ia=ra I & |

a. 13 (14/33)%
b. 18 (17/35)%
c. 36 (49/61)%
d. 22 (6/71)%

e. STH Y BIS TEI

Not Attempt | Correct Ans. | d

Solution. Let =x
M.P. 1.3x

5.P. = 80% of 1.3x

= 1.04x

Profit = 1.04x — (x — 15% of y)
=1.04 —=x
=019x

I}'_l?‘.'tx 100
i)

Profit =

-
A

2 %100 = 2229

]
o un

"
un

Q39  PHRHY ,75000 T. DI TH AR HI YR T U 3 a0 & AT 14% qid O 87 W®
YR AT ¢ | Ia-1 8 @iy F oI 98 39 W=M &) 14% &F IPpgfag ™ F1 R A A H=
a1 | 39 IR I | S fha=r amvrgTi g8 8, Faig ?

a. 4615.80 3.1 ATH v
b. 4615.80 5.1 &I

c. 3615 3. P Y

d. 4214 3.3 g1

e. THI DR T

Not Attempt Correct Ans.  a



Solution. , & \F
!!'LEZP{-J-*EJ
1% :
= 75000 (1 "'E:.) = 1111158
1'!':.1 - PER ’T= TEOODX14XE — 106500
i00 200

Az - A; = 4615.80 gain.

Q40 YA A 3R B UH P! Bl HHI: HIA 3N WeH Hd § | TP BT &HdT 2100 T4 Hew g 19
B $1 <P! B Well HIA D1 &HdT 8 T HY. Ufd fiFe & ol 96 A 1 ¢ B WA B eHar
3fP g 1 39 UPR foraa g # 7a1 A B B UIAT & 7 B I IW Well HA A 8 e
SH A4 81 TP &I aTell Sl B 4R § 7ol A B fa1 qHg T @ 2

a. 20 fiFe
b. 28 fiFe
c. 30 fiFe
d. 40 e
e. 42 fie w

Not Attempt | Correct Ans. e

Solution. A =X [ filling capacity )

B = (¥+8) m3 (emptying capacity)
2100 2100 _ o
X [(x+2}

X=42 -50
X=42 min

Q41 I 3R U P MY BT AU 6:7 8 | afe 6 a9 ugd IW &} 3y 3R 3 o 91 TuW @t
3T BT UTH 2:3 B | <t 3 T q1¢ 7 Dt 3T 3R 10 TY a1 ITH Bt 3R & 91 BT U
feaaT g 2

a.4:3
b.3:4
c.5:3
d.4:5

e. FTHIA DS gl

Not Attempt Correct Ans. b

Solution. gx, 7x

6x-6 _ 2
X433

. _ 3643 _ 39
Req.ratio=——=—=3:4

42410 52




Q42

Q.43

Q.44

TP HUHl & I A Ud® a4 IAR-ISE BT gl HPU $T I TR &) auf & forg
10% T & 3R IR o # a8 5% d& °c Sar 81 3ATA & auf # GIaRI,¥E AP a9 10%
dgd1 8 3R TR ad ¥ 98 5% a9 ¥e oar 31afe g9 a9 2008 I 9T IRE H3d &, o 9
2012 ® HUHI & IUIG T FT YU USTT ?

a. 35% HH

b. 42% IfS
c. 26% Jfg w
d. 31% &H

e. 45% gfa

Not Attempt | Correct Ans. | ¢

Solution.  Let Population in 2008 = 100

110 95 11

Population in 2012 = 100 x == x == x — x == = 126.445
i00 100 i00 o

i0

Therefore increase by 26% approx.

A TP I B 5000 F. Pt AR A I a1 ¢ | B, T T & a1 10,000. 5. B I=At 3
ISP 91Y a9 W ed1 § iR ¢, 2 7l & e 39 g # 15000 %. A< a1 |
a4 & 3fd d 3600 ¥. HTATH FIAT 8 | B BT 31 I B |

a. 1900 .
b. 1600 .
c. 1800%.
d. 2000 .

e. FTHI DS el

Not Attempt Correct Ans. ¢

Solution. 5x12:9x10:15x2
A:B:C=2:3:1
E=§x36ﬂﬂ = 1800

TP Wem d, TP Wod A § giiferd g ara 9t S & T o 80% ST 9 aifvd faa
¢ 2 | T d B I IR g1 aTd Bl @ U8 Wd A & S I 20% 34fU® &t ok e
B I U1 Giftd g1 aTel O, T d A I U1 Giftd g1 aral ST 9 40% 3ifY® ¥ 1 3pa B d
g Giffd g1 9t STl &1 ufaxra fea-r g 2

a. 91
b. 90
c. 92
d. 93

2/3)%
4/5)%
1/3)%
1/3)%

o~ o~ o~ o~



e. FTHIA DS gl

Not Attempt @ Correct Ans.  d

Solution. Let A =100 (Appeared) , A = 80 Qualified
B=120 [Appeared] B =80 +40% of 80 =112

- Reqd % = — X 100 =93 —%

Q45  uEH g A gU 3R UM 3 5:2 F U A 3R g B H g 3R Ut o1 8:5 & Jurd H
foremar e 2 1 oA | 9 {5 srgura | iy Y Rrerar 9 f 59 gu iy &t e
R g 3R Ut 9:4 & U A @ W ?

a.3:
b.7:
c.7:
d. 2:

e. FTH I DS gl

N NN
<

Not Attempt | Correct Ans. | b

Solution.  (2);By Alligation Method.

In vessel A = ; (milk), B = % (milk)

lEl

1 2
Req.Ratio=—:—=7:2
13 91

Q46 3w (46-47): FuferfEa uy &9 Fu=T 1, 1 3R 1 F Ty faw 7w § | smus! g8 Hufa
31 ¢ & B a1 ey vl &1 3w 1 F e sraxys vaiw g |
3Md & fawul & Twag J9 HY

|. T 3(TOd BT SABA 121.68 31 L. B 1
1. TS 3R SIS P iR 7.5 AHLE |
11.TTE, TNSTE | 103.4% 3AfUP & |

a. gy 1, 11 3Rl
b. | 3T 1137 Il
c. AT DT A W



Q47

Q48

d. pad | 3R I
e. pad Il 3R I

Not Attempt | Correct Ans. : ¢

Solution.

By using any two of the given statement we can find out the length and breadth of
the rectangle. And after finding length and breadth, we can find the length of
diagonal by using Pythagoras theorem.

= (46-47): FgfefEa uy &9 sy=1 1, 1 3R 1 F Ty faw 7w € 1 syt g8 HuiRa
P31 ¢ fb P19 a1 e ugl 13w 1 & fore smawge mafa g 1

P BT HYYI I8 AAG fba1 8 2

I. }P & Tl Tdg &1 &T%d 452.57 991 QUL |
II. }(P BT a% YY &FBd 565.77 91 AHI B |

IIl. ]I BT TG 1357.71 T L. B |

a. dAAIDZ A

b. Il R AT 1 AT 1]

c. Il 3fi@r a1 ar

d. 1RIA NN w

e. STHY BIS Ta!

Not Attempt | Correct Ans. | d

Solution.

From statement | we can find out the radius of the base, using r2

By using statement | and Il we can find out the total surface area =r2 + rl (both
given). By using | and Ill we can find out the height of the cone and then we can find
out l.

fdar (48-50): Fafefaa usl & wy fore (2) & I W 4T MM 2

(13v6+17/8)x (126 —9+/6) —(11)2+(4)2 =7

a. 565
b. 345
C.435
d. 635
e. 490

Not Attempt | Correct Ans. ¢



Solution. | -NA-

Q49 fdzr (48-50): FraferfRaa el & uy foeg (?) & T W= F4T WA 2

V30276 x V625 —(97)2++/9602 + 4410 = (7) —(49)2

a. 1670
b. 1570
c. 2270
d. 1850 «
e. 1970

Not Attempt @ Correct Ans. d

Solution. | -NA-

Q50  fydzr (48-50): FaferRRaa el & uy foeg (?) & T W= T4 WA 2
37241742 578
23 23 23

a. 104 (22/23)
b. 142 (20/23)
c. 109 (18/23)
d. 124 (13/23)
e. 124 (22/23) ¥

Not Attempt Correct Ans. e

Solution. | -NA-

Q51 43w (51-55): YD Uy § 3 eftepor RRT 7w § (1) SR (1) | ST WHBRON B g DY AR
sl & I <ifor -

I. x2+43x—40=10
IL y2—14y+48=0

a. af¢ x>y

b.ﬂﬁny

c. afe x

d.ZIﬁExSy

e. TfE x = y TT X 3R 'y B GwIfdd T8I fopa1 o a1 B |

Not Attempt Correct Ans.  c



Q.52

Q.53

Q.54

Solution. x =5 -83:v=6,8x<vy

fAd=r (51-55): TP Uy A < gHiwwor faw e & (1) 3R (1) 1 S IHISR0N B g Y iR
Yl & IR I -

L x2+x—-2=0
II. v 45y +6=0

a. giq x>y

b. afE x2y

c. Ul x

d.Zﬁ%XSy
e.mx=ym‘x’ﬁ‘y’aﬁﬂﬁﬁﬁﬂﬁmww%l

Not Attempt | Correct Ans. | b

Solution. X=-2,1:v=-2,-3: V=X

&= (51-55): TP Uy A ¢ gHiwor faw e g (1) 37 (1) 1 S IHIBRIT B g Y SR
w4l & IR i/ -

I. 7x+5x =11
II. 7y—8x=>51

a. af¢ x>y

b.qﬁ{XZy

c. Ul x

d.q-%XSy

e. TfG x = y TT X 3R 'y B G T8I fpa1 o a1 B |

Not Attempt .| Correct Ans. ¢

Solution. x=-2 y=5

3= (51-55): TP Uy § & IHiwvor fRw e § (1) SR (1) 1 QY THiwR0N ) g B SR
i & IR Ao/ -

L x%=49
I y2—16y+63=0



a. gic x>y

b.qi%XZy

c. afd x

d.tlﬁxSy !
e.ﬂﬁx=ym‘x’3ﬁ?‘y’aﬁw\ﬂﬁﬁmww%ﬂ

Not Attempt | Correct Ans. | d

Solution. X =+7,-7;V=7,9, V=X

Q55 3w (51-55): U Uy & af wHiewor AT 7T § (1) 3R (1) 1 S wiewul B ga 3 ok
il & IR i/ -

L 2x2+13x+21 =0
IL 2y2+27y +88=0

a.’CIﬁEx>y Ly

b.ﬂﬁ{ny

c. Ul x

d.?T%XSy

e. TfE x =y TT X 3R 'y B G T8I fpa1 o a1 B |

Not Attempt Correct Ans.  a

Solution.  x=-6,-7y=-16,-11, x>y
Q56 fdwr (56-60): Frafafaa usl & wy e (?) & M R w1 AM AT 2

5 3 3 5 15 ?

a. 55
b.5
C.69
d. 21
e.3

Not Attempt Correct Ans. ¢

Solution. Theseriesis X1-2, X2-3,X3-4,X4-5, X5-6 a

Q57 34w (56-60): fFufefad usl # vy feg (?) & R W 4T {3 2

18 19 42 135 556 ?



Q.58

Q.59

Q.60

a. 2910
b. 2805
c. 2530
d. 2790
e. 2525

Not Attempt Correct Ans. b

-
-

Solution.  Theseriesisx 1+ 1%, x 24+ 25, x 3+ 35, x4 +4° ..

3= (56-60): Frufafaa usl & wy e (?) & M R T AM MM 2

2 4 ? 18 64 330

a. 12
b. 20
c.28
d. 10
e.4 w

Not Attempt @Correct Ans. e

Solution. X142, X2-4, X3 +6,X4-8,X5+10

3= (56-60): Frafafaa usl & wy e (7) & M W T AM AT 2

7 24 38 86 162 ?

a. 259
b. 269
c. 324
d. 334 «
e. 314

Not Attempt | Correct Ans. | d

Solution. %2 +10, X2 - 10, X2 + 10, X2 - 10........
frd=r (56-60): Frufafaa wsi & wy fre (?) & M R w1 M MM 2

12 24 96 576 4608 ?

a. 19536
b. 46080
c. 40680



d. 27648
e. 34560

Not Attempt | Correct Ans. | b

Solution. = Seriesis X2, x 4, x 6, x 8, x 10,



Essay for Question No. 61
A= (61-65) Fufafad mF & e Yd® U¢ IR Ui F IR S |

IfRrferd gu Swiiear] &t T (9R1 #) ofik quft auf ot ufaanft wdten & ovg eifta gu ot &1
gf=rd |

IfEferd gu STGaR| & TS (B9RI H)

40

35

30

25
20
15
10
‘ull
,
1997 1998 1993 2000 2001 2002 2003 2004

B Noof Candidates appeared | in thousands)

: 4

20

15

10

1997 1998 1993 2000 2001 2002 2003 2004

=p=—Percentage of candidates qualified

Q. No Question Status

Q61 gy 1997 # wfMifera gu Iwficar ik o 2004 # Fivg TG B ard Iwfigart &1 srquma
g 2

a.14:5



b.5:14 &
c.3:7

d. STeT 3uafe g
e. STH Y P13 gl

Not Attempt | Correct Ans. | b

Solution. 5000 5
40% of 35000 14

62  fag g Wt aut § Fuffea 79 fFa 9 & ved w0 snigr A vitagu 3 2

a. 1997
b. 2002
c. 2001
d. 1998

e. ITH Y IS g

Not Attempt | Correct Ans. | a

Solution.

32.5 X50

Numbers of candidates qualified is lowestin 1997 = - — =1625

Q63 g 2002 ¥ 99 2003 A ARG T a7t IENaIRT ) T@I BT yfAwd fFa-m ger ® 2

a. 66 %
b. 30
c.70
d. 33

e. TH Y I gl w

Not Attempt | Correct Ans. e

Solution. 20000-20000

Percentage drop = ~oooo X100 = %x 100 = 33-%

Q64 g 2002 # fra Iufigar arg Giftd gu 2

a.6750
b. 13500
c. 9900

d. I I8! ol bl §
e. STH Y PIg gl



Not Attempt | Correct Ans. : a

Solution.  22.5% of 30000 = 6750

Q65 g 1999 ¥ Ty TG B a1d IWfiear! &t e af 1998 # wiMfera g a ol
Suftieart @t @ &1 fdanr ufawra &t?

a.68.5
b.70
c.32.5
d.67.5

e. STHY BIS TE!

Not Attempt | Correct Ans. | d

Solution- - Number of Candidates qualified in 1999 = 22500 x =~ = 675(
~ Required Percentage
==2%100=67.5
Essay for Question No. 66

frd=r (66-70) : FgfafEd UT% &1 ea=gde 3reaT &Y 3R Uslf BT IR < |
gt auf & G IR & IdTe H g aTen gis HiiaRId S T g |

Percentage rise in Production of two different organisations over
the years
70

~ Company A
60

N

w Company B

50

30

20

10

N NN

19596 1997 1998 1999 2000 2001

Q. No Question Status



Q66  gfg HYAT A BT IUIGT I¥ 1996 H 1,66 ARI SHIS YT, dl 99 1998W fHd-t sHIFAl BT
IdreH frarmar g 2

a. 265145
b. 302535
c. 224100
d. 314323

e. STH Y BIS g

Not Attempt | Correct Ans. | b

Solution. = 156000 x =2 x 222 _ 302535
100 100

L8]

Q67 gy 2000 # HU B P It A fUod af F ga # b ufowra 1 gfS &2 8 2 (GxWea
& 91¢ 3 HE&IT T IR 3)

a.42.86
b. 156.37
c. 36.62
d. 32.48

e. FTHIDIS el

Not Attempt Correct Ans.  a

Solution. %3 x100=42286

i
un

Q68  gfg g 2000 HUT B, 6.58,125 FHIZAI HT IAIGT Bt @, df 99 1998 H I et
P13l BT TG fhar g 2

a. 4,10,500
b. 2,98,000
c. 3,25,000
d. 4,05,500

e. FTH I DS gl

Not Attempt Correct Ans.  c

Solution. B52125 x2100x200

= 325000

Q69 gy 2000 H HU AP IeUre A fiod adf F ga1 & fraq ufaza F1afe gs @ 2



a. 30
b. 60
c. 20
d. 200 «

e. STH Y BIS TEI

Not Attempt @ Correct Ans.  d

Solution. =X 100=200%

Q70  Iudad ITE W uUiE FERifa i T YT a0 e 2

a. BT A T 2000 F 3HfUHaH SH1STl BT I fHaT g |

b. BT B & I d ¥ 2001 & iz af & o A &l i T g8 5

c. 3 2000 H HUT A 7 HUHT B 31 3134l T I fHaT g |

d. HUHT B & IdIGA BT 3 i Uia=id, HOT A & 3Id Uia=ia o Sffie o7 |
e. TTH Y IS Aol

Not Attempt | Correct Ans. | d

Solution. | -NA-

Essay for Question No. 71

Directions (71-80): Read the following passage carefully and answer the questions given below it.
Certain Words have been printed in bold to help you locate item while answering some of the
questions.

Organic farming is either really expensive or really cheap, depending on where you live and
whether or not you are certified. Not only are the "natural" pesticides and fertilizers increasingly
marketed by agribusiness as costly as or costlier than their chemical counterparts, but proving you
are an organic farmer requires certification, which is time-consuming and expensive. In the USA,
converting to organic agriculture is a huge undertaking for commercial farmers, who have relied on
chemical fertilizers and pesticides for many decades, but in India, the conversion is no less
arduous and far more ironic.

India's farmers are still mostly practicing organic methods, passed down for millennia Organic
fertilizer and natural pest control are the only tools available to most of these farmers, who have
always lacked the financial resources to explore chemical solutions. But these farmers, whose

nrodiirca i ac nraanie ac thav rnme cannnt affard tn nav the feec reniiired tn nain nffirial



MIYUMMUL U UU VU UU LIV Y U I U IV GV U LU Uy LIV TU DU DU U UM L YA i

certification.

As the international community adopts standards for organic agriculture, the challenges faced by
farmers in the USA versus farmers in India in order to adapt are very different indeed. The danger
is that the well-intentioned global move towards organic standards will make small organic farmers
in countries like India, who have never done anything but organic farming, no longer able to sell
their crops.

In response to the $26 billion global market for organic foods, the Indian Central Government set
up a National Institute of Organic Farming in October 2003. The purpose of this institute is to
formulate rules, regulations and certification of organic farm products in conformity with
international standards. The institute has its offices across the country and has appointed certifying
agencies, for organic farm products for the domestic market. The certifying agencies are
accountable for confirming that any product sold with the new "India Organic" logo is in accordance
with international criteria, and launch major awareness and marketing campaigns, in India and
abroad.

Organic farming has been identified as a major thrust area of the 10" Plan of the central
government. 1 billion rupees have been allocated to the aforementioned National Institute of

Organic Farming alone for the 10" five-year Plan. Despite this, most of India's organic farms are
not officially considered organic. Most of India's farms are "organic by default". The irony and
difficulty of the new governmental push for organic agriculture is that 65% of the country's cropped
area is "organic by default," according to a study. By this somewhat degrading term they mean that
small farmers, located mostly in the Eastern and North-Eastern regions of the country, have no
choice except to farm without chemical fertilizers or pesticides. Though this is true in many cases, it
is also true that a significant number of them have chosen to farm organically, as their forefathers
have done for thousands of years. Many have seen for themselves the effects of chemical farming
— soil erosion and loss of soil nutrients, loss of nutritional food, and human diseases resulting from
the chemicals that inevitably seep into the water table, as the reasons for the urgent demand for
organic foods and farming.

India currently has only 1,426 certified organic farms. This statistical discrepancy reveals that the
weak link in the organic/ economic chain is certification. Under current government policy, it takes
four years for a farm to be certified as organic. The cost of preparing the report is a flat fee of Rs.
5,000 and the certificate itself costs another Rs. 5,000. While these costs are bearable for the new
industrial organic greenhouses, they are equal to or more than an entire year's income for the
average small farmer, if the costs of travel and inspection are included.

In the United States, an organic farm plan or organic handling plan must be submitted to a USDA
— accredited private or state certification program. The plan must explain all current growing and
handling methods, and any materials that will be used —in the present, and any future plans must
be included as well. Records for the last five years must be presented. Land must be chemical-free
for three years prior to harvest, so a conventional farmer cannot receive the organic label for the



transitional years. This will generally mean a decrease in income — crops may be less plentiful
than with conventional fertilizers and pesticides, and yet the higher price for organic products won't
yet be possible. Many farmers cannot afford the transition, even if they want to.

One solution to the small farmer's dilemma of how to both certify and survive is that of community
certification. In community certification, communities, on a non-profit basis, take charge of the
certification process themselves. They evaluate the farmer's commitment to the stewardship of the
soil, and examine from many angles whether the food is being grown in an environmentally
sensitive way or not, rather than technical standards. While community certification may be a viable
solution on the local level, it is our opinion that, in the global marketplace, less than exact technical
standard will never be enough for today's consumer and in today's largely poisoned environment, it
shouldn't be, either. Furthermore, such “soft' guidelines can easily backfire on the farmers
themselves, as a system not based on facts must be by definition subject to local politics, bribery,
favouritism, etc.

India must find a way to keep the strict international organic standards intact if it wants to compete
in the international market for organic foods — but is there a way to do it without leaving small
farmers out in the cold? One obvious solution is for the government to subsidize these certification
fees enough to make it a viable option for ordinary farmers, not just for neo-organic factory farms
and greenhouses. Banks also could provide a more level playing field for small farmers. Currently,
almost all bank loans are for pure crop farmers. While many of these big-business farmers use
harmful chemicals and processes, small farmers fertilizing their soil with recycled organic wastes
are usually ineligible for insurance, much-less state subsidies.

Q. No Question Status

Q.71 What role does the National institute of Organic Farming have to play in the organic
farming area?

a. To set standards for the import of material required for organic farming within India

b. To ensure that Indian farm products conform to the international standard for organic
foods

c. To suggest methods to farmers for producing the best organic products
d. To import the best organic foods from international countries and harvest them in India
e. To set up agencies internationally for the marketing of Indian organic produce

Not Attempt Correct Ans. b

Solution. | -NA-

Q.72 Which of the following is possibly the most appropriate title for the passage?

a. Agribusiness in India
b. Organic Farming in India —An lrony &'



c. Inorganic Farming —A Health Hazard
d. Small and Marginal Farmers
e. Organic Farming in India and the US

Not Attempt | Correct Ans. | b

Solution. | -NA-

Q73  Why, according to the author, is the term "organic by default" degrading?

a. As Indian farmers are adopting incorrect methods of organic farming, thereby rendering
the crop use less

b. As the crop cultivated out of organic farming is rejected by most international agencies

c. As all the farmers in India do not have any access to chemical fertilizer and pesticides to
carry out inorganic farming

d. As the Govt. has issued a directive to farmers in India to carry out organic farming alone

e. As it means that the farmers in India cannot afford to use anything but organic methods
of farming

Not Attempt | Correct Ans. e

Solution. | -NA-

Q74 Which of the following are reasons for the increasing demand for organic foods and
organic farming?
(i) Consumption of inorganic food has given rise to ilinesses
(ii) Excessive use of pesticides has caused soil erosion
(iii) There has been a loss in nutrient value of soil due to chemical farming

a. Only (ii)

b. Only (i) and (ii)

c. Only (iii)

d. Only (ii) and (iii)

e. All (i), (ii) and (iii) are true

Not Attempt Correct Ans. e

Solution. | -NA-

Q75  Why, according to the author, will the idea of community certification not work?

a. As there may not be enough people in the community to work on a non-profit basis

b. As the farmers may not be forthcoming in providing information, about their cultivation
practices and thus lead to the failure of this system

c. As the certification granted through this scheme will not be authentic at all
d. As certification sought in this manner may give rise to vested interests and also not meet



Q.76

Q77

Q.78

the stringent criteria laid down globally
e. None of these

Not Attempt | Correct Ans. | d

Solution. | -NA-

Which of the following is TRUE in the context of the passage?

(i) The Indian Govt. is not in favour of acquiring certification to meet global
standards.

(ii) The process of certification is quite time-consuming and expensive.

(iii) The farmer does not earn much during the three-four years that it takes to get
certification.

a. only (i) and (iii)

b. only (ii)

c. only (ii) and (in) %
d. only (i) and (ii)

e. All (i), (ii), and (iii)

Not Attempt | Correct Ans. ¢

Solution. | -NA-

What, according to the author, is a major problem with Organic Farming in India?

a. Despite their organic nature most farms in India are not perceived as organic because of
mere paperwork. '

b. The Govt. has not paid attention to organic farming in India thereby promoting inorganic
farming to a great extent.

c. Only recycled organic waste is available to Indian farmers for the purpose of organic
farming.

d. Indian farmers are accustomed to the usage of chemicals and their farms have now
started losing their fertility.

e. Large number of farmers in India is averse to the idea of organic farming as it is not
profitable.

Not Attempt Correct Ans.  a

Solution. | -NA-

Which of the following, according to the author, are factors that can help in acquiring
organic farming certification in India?

(A) Providing more bank loans to small farmers

(B) Reducing the quantum of loans being provided to pure crop farmers



(C) Lowering the cost of certification

a. Only (i)

b. Only (iii)

c. Only (i) and (iii)
d. Only (ii) and (iii)

e. All (i), (ii) and (iii)

Not Attempt .| Correct Ans. ¢

Solution. | -NA-

Q79 Choose the word/group of words which is most similar in meaning of the word/group
to words printed in bold as used in the passage.

Arduous

a. Pleasurable
b. different

c. difficult «
d. hazardous
e. threatening

Not Attempt | Correct Ans. | c

Solution. | -NA-

Q80  Choose the word/group of words which is most opposite in meaning of the
word/group to words printed in bold as used in the passage.

Viable

a. impossible
b. negative

c. deadly

d. practical

e. rudimentary

Not Attempt : Correct Ans. ' a

Solution. | -NA-

Q. No Question Status

Q.81 Directions (81-85): Which of the phrases (a) (b), (c) or (d) given below each sentence



Q.82

Q.83

should replace the word/phrase printed in bold in the sentence to make it
grammatically correct? If the sentence is correct as it is given and no correction is
required, mark (e) as the answer.

Q-Since Riya did not want to be disturbed while studying, she left the phone of
hooks.

a. off the hook '

b. off hooking

c. for the hook

d. of hook

e. No correction required

Not Attempt | Correct Ans. | a

Solution. | -NA-

Directions (81-85): Which of the phrases (a) (b), (c) or (d) given below each sentence
should replace the word/phrase printed in bold in the sentence to make it
grammatically correct? If the sentence is correct as it is given and no correction is
required, mark (e) as the answer.

Q- Since Shilpa was overburdened with work, Deepa decided to gave her hand.

a. giving hands

b. give her a hand

c. giving her handful

d. gave her hands

e. No correction required

Not Attempt | Correct Ans. | b

Solution. | -NA-

Directions (81-85): Which of the phrases (a) (b), (c) or (d) given below each sentence
should replace the word/phrase printed in bold in the sentence to make it
grammatically correct? If the sentence is correct as it is given and no correction is
required, mark (e) as the answer.

Q- Despite having passed out from school over ten years back, most schoolmates
has keep touch with each other.

a. are kept touched
b. is keeping touch



Q.84

Q.85

Q.86

c. keep touched
d. had kept in touch
e. No correction required

Not Attempt @ Correct Ans.  d

Solution. | -NA-

Directions (81-85): Which of the phrases (a) (b), (c) or (d) given below each sentence
should replace the word/phrase printed in bold in the sentence to make it
grammatically correct? If the sentence is correct as it is given and no correction is
required, mark (e) as the answer.

Q- Seeta has well awareness of the fact that her actions would have terrible
repercussions.

. was well aware of
. has aware for

a
b
c. is aware to
d. is in awareness with
e

. No correction required

Not Attempt | Correct Ans. | a

Solution. | -NA-

Directions (81-85): Which of the phrases (a) (b), (c) or (d) given below each sentence
should replace the word/phrase printed in bold in the sentence to make it
grammatically correct? If the sentence is correct as it is given and no correction is
required, mark (e) as the answer.

Q- Shashi tried as hard he would to win the race but failed to do so.

. as hardly so he could

. as hard as he could
. hardly so as

. 80 hard that could

. No correction required

O o o T 9

Not Attempt | Correct Ans. | b

Solution. | -NA-

Directions (86-90): Rearrange the following six sentences (A) (B), (C), (D), (E) and (F)
in the proper sequence to form a meaningful paragraph; then answer the questions
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given below them.

A. A legal framework is, thus, now available for promoting energy efficiency in all
sectors of the economy.

B. The increasing preference for commercial energy has led to a sharp increase in the
demand for electricity and fossil fuels.

C. There is still a considerable potential for repairing such damage and reducing
energy consumption by adopting energy efficiency measures at various sectors of
our country.

D. This framework is nothing but the Energy Conservation Act, 2001, the success of
which greatly depends on the people who take the lead in supporting this
programme.

E. This use of fossil fuels has resulted in emission of a huge quantity of carbon
dioxide causing serious environmental damage.

F. These adopted measures will not only reduce the need to create new capacity
requiring high investment, but also result in substantial environmental benefits.

Q- Which of the following will be the FIRST sentence after rearrangement?

a.A
b.B «
c.C
d.D
e.E

Not Attempt | Correct Ans. | b

Solution. | -NA-

Directions (86-90): Rearrange the following six sentences (A) (B), (C), (D), (E) and (F)
in the proper sequence to form a meaningful paragraph; then answer the questions
given below them.

A. A legal framework is, thus, now available for promoting energy efficiency in all
sectors of the economy.

B. The increasing preference for commercial energy has led to a sharp increase in the
demand for electricity and fossil fuels.

C. There is still a considerable potential for repairing such damage and reducing
energy consumption by adopting energy efficiency measures at various sectors of
our country.

D. This framework is nothing but the Energy Conservation Act, 2001, the success of
which greatly depends on the people who take the lead in supporting this
programme.

E. This use of fossil fuels has resulted in emission of a huge quantity of carbon
dioxide causing serious environmental damage.

F. These adopted measures will not only reduce the need to create new capacity
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requiring high investment, but also result in substantial environmental benefits.

Q- Which of the following will be the FOURTH sentence after rearrangement?

a.C
b.F &
c.A
d.D
e.B

Not Attempt | Correct Ans. | b

Solution. | -NA-

Directions (86-90): Rearrange the following six sentences (A) (B), (C), (D), (E) and (F)
in the proper sequence to form a meaningful paragraph; then answer the questions
given below them.

A. A legal framework is, thus, now available for promoting energy efficiency in all
sectors of the economy.

B. The increasing preference for commercial energy has led to a sharp increase in the
demand for electricity and fossil fuels.

C. There is still a considerable potential for repairing such damage and reducing
energy consumption by adopting energy efficiency measures at various sectors of
our country.

D. This framework is nothing but the Energy Conservation Act, 2001, the success of
which greatly depends on the people who take the lead in supporting this
programme.

E. This use of fossil fuels has resulted in emission of a huge quantity of carbon
dioxide causing serious environmental damage.

F. These adopted measures will not only reduce the need to create new capacity
requiring high investment, but also result in substantial environmental benefits.

Q- Which of the following will be the SECOND sentence after rearrangement?
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Q.90

Not Attempt @ Correct Ans.  d

Solution. | -NA-

Directions (86-90): Rearrange the following six sentences (A) (B), (C), (D), (E) and (F)
in the proper sequence to form a meaningful paragraph; then answer the questions
given below them.

A. A legal framework is, thus, now available for promoting energy efficiency in all
sectors of the economy.

B. The increasing preference for commercial energy has led to a sharp increase in the
demand for electricity and fossil fuels.

C. There is still a considerable potential for repairing such damage and reducing
energy consumption by adopting energy efficiency measures at various sectors of
our country.

D. This framework is nothing but the Energy Conservation Act, 2001, the success of
which greatly depends on the people who take the lead in supporting this
programme.

E. This use of fossil fuels has resulted in emission of a huge quantity of carbon
dioxide causing serious environmental damage.

F. These adopted measures will not only reduce the need to create new capacity
requiring high investment, but also result in substantial environmental benefits.

Q- Which of the following will be the LAST (SIXTH) sentence after rearrangement?

LS A
moow>

Not Attempt | Correct Ans. | d

Solution. | -NA-

Directions (86-90): Rearrange the following six sentences (A) (B), (C), (D), (E) and (F)
in the proper sequence to form a meaningful paragraph; then answer the questions
given below them.

A. A legal framework is, thus, now available for promoting energy efficiency in all
sectors of the economy.

B. The increasing preference for commercial energy has led to a sharp increase in the
demand for electricity and fossil fuels.

C. There is still a considerable potential for repairing such damage and reducing
energy consumption by adopting energy efficiency measures at various sectors of
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our country.

D. This framework is nothing but the Energy Conservation Act, 2001, the success of
which greatly depends on the people who take the lead in supporting this
programme.

E. This use of fossil fuels has resulted in emission of a huge quantity of carbon
dioxide causing serious environmental damage.

F. These adopted measures will not only reduce the need to create new capacity
requiring high investment, but also result in substantial environmental benefits.

Q- Which of the following will be the FIFTH sentence after rearrangement?

a.A ¥
b.B
c.C
d.D
e.E

Not Attempt Correct Ans.  a

Solution. | -NA-

Direction (91-95) Read each sentence to find out whether there is any grammatical
error or idiomatic error in it. The error, if any, will be in one part of the sentence. The
number of that part is the answer. If there is no error, the answer is 'e’. (Ignore errors
of punctuation, if any)

Q- More than half the food products (a)/ targeted at babies and toddlers have (b)/ a
high sugar content and are (c)/ excessive sweet. (d)/ No error (e)

a.a
b.b
c.c
d.d
e.e

Not Attempt | Correct Ans. | d

Solution. | -NA-

Direction (91-95) Read each sentence to find out whether there is any grammatical
error or idiomatic error in it. The error, if any, will be in one part of the sentence. The
number of that part is the answer. If there is no error, the answer is 'e’. (Ignore errors
of punctuation, if any)
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Q.94

Q-The foreign company has so far declined to (a)/ directly comment on the Indian
company's move, (b)/ which analysts say is a sign the company wanting to (c)/ fight
for its presence in the market. (d)/ No error (e)

a.a
b.b
c.c ¥
d.d
e.e

Not Attempt | Correct Ans.  c

Solution. | -NA-

Direction (91-95) Read each sentence to find out whether there is any grammatical
error or idiomatic error in it. The error, if any, will be in one part of the sentence. The
number of that part is the answer. If there is no error, the answer is 'e’. (Ignore errors
of punctuation, if any)

Q- After forty years of trying to (a)/ understand why asbestos causes cancer (b)/
researchers have now finally (c)/ unravelled the mystery. (d)/ No error (e)

a.a
b.b
c.c
d.d
e.e

Not Attempt | Correct Ans. | b

Solution. | -NA-

Direction (91-95) Read each sentence to find out whether there is any grammatical
error or idiomatic error in it. The error, if any, will be in one part of the sentence. The
number of that part is the answer. If there is no error, the answer is 'e'. (Ignore errors
of punctuation, if any)

Q- A property dealer was (a)/ shoot dead by four unidentified / jacket-clad men (b)/
while taking a morning walk (c)/ in a park. (d)/ No error (e)
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Not Attempt @ Correct Ans. b

Solution. | -NA-

Direction (91-95) Read each sentence to find out whether there is any grammatical
error or idiomatic error in it. The error, if any, will be in one part of the sentence. The
number of that part is the answer. If there is no error, the answer is 'e'. (Ignore errors
of punctuation, if any)

Q-The auditions for India’s first ever (a)/ reality-based pop band hunt is (b)/ going on
in full swing, (c)/ with numerous entries coming in. (d)/ No error (e)

© o0 T O
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Not Attempt Correct Ans. b

Solution. | -NA-

Direction (96-100): In the following passage there are blanks, each of which has been
numbered. These numbers are printed below the passage and against each, five
Words are suggested, one of which fits the blank appropriately. Find out the
appropriate Word in each case.

India has become, in purchasing power parity terms, the fourth largest economy in
the world. India’s economic ...... (96).... since 1980 has been among the most rapid.
As India managed its one incipient crisis in the early 1990s, thus it avoided the
catastrophic losses. While many....(97).... that exposing India’s economy to global
competition would reveal India’s economic weakness. It has rather revealed strengths
and often unexpected strength in new areas no planner would have....(98)....of, India
is increasingly taking it place on the global stage and in international forums as a
21st century superpower. The generations of politicians and policy makers who have
been.....(99)....of leading India to where it is today can be justifiably....(100)....of the
transformation. But achievements create new challenges two of which are-improving
service delivery particularly to the poor, through greater accountability and
expanding the benefits of rapid growth across sectors, regions and people.

Q- 96

a. Decline
b. policy
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Q.98

C. crisis
d. treaty
e. growth

Not Attempt Correct Ans. e

Solution. | -NA-

Direction (96-100): In the following passage there are blanks, each of which has been
numbered. These numbers are printed below the passage and against each, five
Words are suggested, one of which fits the blank appropriately. Find out the
appropriate Word in each case.

India has become, in purchasing power parity terms, the fourth largest economy in
the world. India’s economic ...... (96).... since 1980 has been among the most rapid.
As India managed its one incipient crisis in the early 1990s, thus it avoided the
catastrophic losses. While many....(97).... that exposing India’s economy to global
competition would reveal India’s economic weakness. It has rather revealed strengths
and often unexpected strength in new areas no planner would have....(98)....of, India
is increasingly taking it place on the global stage and in international forums as a
21st century superpower. The generations of politicians and policy makers who have
been.....(99)....of leading India to where it is today can be justifiably....(100)....of the
transformation. But achievements create new challenges two of which are-improving
service delivery particularly to the poor, through greater accountability and
expanding the benefits of rapid growth across sectors, regions and people.

Q- 97

a. Asked

b. feared
c. think

d. spoke

e. believe

Not Attempt | Correct Ans. | b

Solution. | -NA-

Direction (96-100): In the following passage there are blanks, each of which has been
numbered. These numbers are printed below the passage and against each, five
Words are suggested, one of which fits the blank appropriately. Find out the
appropriate Word in each case.

India has become, in purchasing power parity terms, the fourth largest economy in
the world. India’s economic ...... (96).... since 1980 has been among the most rapid.
As India managed its one incipient crisis in the early 1990s, thus it avoided the
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catastrophic losses. While many....(97).... that exposing India’s economy to global
competition would reveal India’s economic weakness. It has rather revealed strengths
and often unexpected strength in new areas no planner would have....(98)....of, India
is increasingly taking it place on the global stage and in international forums as a
21st century superpower. The generations of politicians and policy makers who have
been.....(99)....of leading India to where it is today can be justifiably....(100)....of the
transformation. But achievements create new challenges two of which are-improving
service delivery particularly to the poor, through greater accountability and
expanding the benefits of rapid growth across sectors, regions and people.

Q- 98

a. Questioned
b. dreamed
c. arranged

d. plan

e. wanted

Not Attempt | Correct Ans. | b

Solution. | -NA-

Direction (96-100): In the following passage there are blanks, each of which has been
numbered. These numbers are printed below the passage and against each, five
Words are suggested, one of which fits the blank appropriately. Find out the
appropriate Word in each case.

India has become, in purchasing power parity terms, the fourth largest economy in
the world. India’s economic ...... (96).... since 1980 has been among the most rapid.
As India managed its one incipient crisis in the early 1990s, thus it avoided the
catastrophic losses. While many....(97).... that exposing India’s economy to global
competition would reveal India’s economic weakness. It has rather revealed strengths
and often unexpected strength in new areas no planner would have....(98)....of, India
is increasingly taking it place on the global stage and in international forums as a

215t century superpower. The generations of politicians and policy makers who have
been.....(99)....of leading India to where it is today can be justifiably....(100)....of the
transformation. But achievements create new challenges two of which are-improving
service delivery particularly to the poor, through greater accountability and
expanding the benefits of rapid growth across sectors, regions and people.

Q- 99

a. Part
b. issues
c. humans
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d. figment
e. thought

Not Attempt Correct Ans.  a

Solution. | -NA-

Direction (96-100): In the following passage there are blanks, each of which has been
numbered. These numbers are printed below the passage and against each, five
Words are suggested, one of which fits the blank appropriately. Find out the
appropriate Word in each case.

India has become, in purchasing power parity terms, the fourth largest economy in
the world. India’s economic ...... (96).... since 1980 has been among the most rapid.
As India managed its one incipient crisis in the early 1990s, thus it avoided the
catastrophic losses. While many....(97).... that exposing India’s economy to global
competition would reveal India’s economic weakness. It has rather revealed strengths
and often unexpected strength in new areas no planner would have....(98)....of, India
is increasingly taking it place on the global stage and in international forums as a

21st century superpower. The generations of politicians and policy makers who have
been.....(99)....of leading India to where it is today can be justifiably....(100)....of the
transformation. But achievements create new challenges two of which are-improving
service delivery particularly to the poor, through greater accountability and
expanding the benefits of rapid growth across sectors, regions and people.

Q- 100

a. Worried

b. angry

c. honoured &
d. distinguished
e. proud

Not Attempt | Correct Ans. ¢

Solution. | -NA-



